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Answer either in English or in Assamese

1. Answer the following questions : 1x5=5

o TR e o

(a) “In a valid argument, if the premises are
false, the conclusion cannot be true.” Is
this statement true?

““qB1 (3y &R SmRERE e 2'eE Bram 79
?'T ERIE 17 G FIR T 7

(b) State the meaning of the Greek word
‘Soros’.

N 1% ‘Soros’3 T o141 |
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(2)

(c) Name the chief fallacy under which the
fallacy of petitio principii is included.
Petitio principii (7RG (FWCH! T TR
TFEE, CIREOR W o

(d) “Argument Non Causa Pro Causa is also
known as the fallacy of true cause.” Is
this statement true?

“Argument Non Causa Pro Causa%
Sty FRY T e oA AW 1 @R IYER
FHSICA ?

(e) State the meaning of the word fallacy’
used in logic.

HRETTS 9 (R O X S B o
2. Answer the following questions : 2x3=6
oY eppTRY Ted o
(a) State two characteristics of deductive
argument.
R SIS 71 CafAEy o |
(b) Define mediate inference.
RN SIS I3 o 1

(c) Give example of Hasty Generalization.
el Ty Tz foam o
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(3)

3. Answer any three of the following questions :

5x3=15
et fia eppTgRa R ceten fefRbra B for

(a) Write a short note on enthymeme.

Enthymeme ¥ «f6 55 Gt ot |

(b) Distinguish between mediate and
immediate inferences.

MY F G ST &S AL €A |

(c) Distinguish between proposition and
argument.
o7 O JET S AN (.S |

(d) Write a short note on Argument ad
Ignorantiam.
Argument ad Ignorantiam 7=it# «f6 o
¢t ot 1 '

(e) What is fallacy of division? Explain
various kinds of fallacy of division.
e o e B g2 ﬁrmaa s Rfew
P AR FI |

4. Answer any three of the following questions :
8x3=24
ware fi 2pRd R e foftbrm Bea o

(a) Define argument. Distinguish between
deductive argument and inductive
argument.

FfRe= wzent foan | R 3 o e
TR TS AT (YA |
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(4)

(b) Write an essay on ‘syllogism in ordinary
language’.
YR SRS R FoAcE G o o o

(c) Why is Argument ad Populum
considered as a fallacy? Explain the
fallacy with suitable examples. 2+6=8
Argument ad Populum % % @1 o8 3@
v F1 W7 SR TwmaPr @ IO
TR AT |

(d) State the meaning of the phrase ‘ad
hominem’. Distinguish between two
major forms of the Argument ad
- Hominem.

‘ad hominem’ IRMCRGR Y R
Argument ad Hominem3d Tl T ¥
ASS AN fefy 3w 1

(e) Elucidate the fallacies of the Red
Herring and the Straw Man with
suitable examples.

Red Herring 9 Straw Man R¥3s o9
701 Sorge TR oI IR o o
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